
1.Using M8X60(H)screws,assemble
the (A) and (I).

2.Using screws M8x50(B1) and
M8x65(B2),assemble the elements
(A),(I) and (J). 

3.Using M8x20(C)screws,assemble
the(D),(E)and(F).

4. Insert the item(I)into the element(D).

5. Do the same for the other side.

6. Assemble the element(G)on the set.
7. You have completed the  assembly of your awning.

Keep this product away from heat and flames.
Do not leave leaves or water on the roof for too long. Make sure the 
place where you install the blind is strong enough to support the 
weight of the product.
Store your blind indoors in a covered area during the Winter to 
incease its lifespan.

Desc Qty



JACK BOLT

ARM

LOCKING NUTS

JACK BOLT

ARM

1.Loosen the locking nuts.
2.Turn the jack bolt to adjust pitch.
3.Adjust the arm until the front side is level.
4.Tighten the locking nuts.




